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 B. Com. (Part III) EXAMINATION, 2020 

(Compulsory) 

Paper  Third 

MANAGEMENT ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 75 

[Minimum Pass Marks : 25 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- ¼v½ foŸkh; fooj.k ls vki D;k le>rs gSa \ 5 

What do you understand by Financial Statement ? 

¼c½ dEiuh vf/kfu;e] 2013 ds vUrxZr dEiuh ds vkfFkZd fpës dk 

uewuk izLrqr dhft,A 10 

Represent the specimen of balance sheet of a company 

as per Companies Act, 2013. 
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vFkok 

(Or) 

,d dEiuh ds uhps fn, x, vkfFkZd fpës ls Kkr dhft, % 15 

(i) ‘kks/ku {kerk 

(ii) rjyrk vuqikr 

(iii) LFkk;h lEifŸk;k¡ vuqikr 

(iv) iw¡th feyku vuqikr 

(v) iw.kZ rjy vuqikr 

dEiuh fyfeVsM 

¼vkfFkZd fpëk ¼31 ekpZ] 2019 dks lekIr gksus  

okys o”kZ ds fy,½ 

fooj.k uksV Øa- 
jkf’k 

¼`½ 

I. lerk ,oa nkf;Ro %   

  1- va’k/kkfj;ksa dh fuf/k %   

    va’k iw¡th  1,00,000 

  2- xSj&pkyw nkf;Ro %   

     _.ki=  75,000 

  3- pkyw nkf;Ro   25,000 

dqy ¼1+$2$3½  2,00,000 



 [ 3 ] D–3045 

 P. T. O. 

 

II. lEifŸk;k¡ %   

  1- xSj&pkyw lEifŸk;k¡ %   

    LFkk;h lEifŸk;k¡  80,000 

  2- pkyw lEifŸk;k¡ %   

    O;kikfjd izkfIr;k¡ % `     

    nsunkj 70,000   

    izkI; fcy 10,000  80,000 

jksdM+ ,oa jksdM+ rqY; % `   

jksdM+ 10,000 10,000  

O;kikfjd izfrHkwfr +10,000 10,000 20,000 

LVkWd ¼Lda/k½  20,000 

dqy ¼1$2½  2,00,000 

From the following Balance Sheet of a company you are 

required to calculate : 

(i) Solvency ratio 

(ii) Liquidity ratio 

(iii) Fixed assets ratio 

(iv) Capital gearing ratio 

(v) Absolute liquid ratio 
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Company Ltd. 

(Balance Sheet as at 31st March, 2019) 

Particulars 
Note No. Amount 

(`) 

I. Equity and Liabilities :   

  1. Shareholder’s Fund :   

      Share Capital  1,00,000 

  2. Non-current Liabilities :   

      Debentures  75,000 

  3. Current liabilities  25,000 

Total (1+2+3)  2,00,000 

II. Assets :   

    1. Non-Current Assets :   

        Fixed Assets  80,000 

    2. Current Assets :   

       Trade Receivables : `     

       Debtors 70,000   

      B/R 10,000  80,000 

    Cash and Cash equivalents : `   

      Cash 10,000 10,000  

      Marketable Securities +10,000 10,000 20,000 

     Stock (inventory)  20,000 

Total (1+2)  2,00,000 
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bdkbZ&2 

(UNIT—2) 

2- fuEufyf[kr fpëksa ls dk;Z’khy iw¡th esa ifjorZu dh vuqlwph rFkk dks”k 

izokg fooj.k rS;kj dhft, % 

fpëk 

 jkf’k 

¼`½ 

lerk ,oa nkf;Ro % 2017-18 2018-19 

va’k iw¡th 4,00,000 4,50,000 

ykHk&gkfu [kkrk (50,000) 70,000 

va’kksa ij dVkSrh (10,000) (5,000) 

lkekU; lap; 2,00,000 2,10,000 

_.ki= 2,40,000 3,50,000 

pkyw nkf;Ro 1,20,000 1,50,000 

 9,00,000 12,25,000 

            

 jkf’k 

¼`½ 

lEifŸk;k¡ % 2017-18 2018-19 

LFkk;h lEifŸk;k¡ 6,10,000 7,20,000 

fofu;ksx 50,000 1,30,000 

pkyw lEifŸk;k¡ 2,40,000 3,75,000 

 9,00,000 12,25,000 

uksV % dks”Bd esa xbZ jkf’k _.kkRed jkf’k dks fn[kkrk gSA 
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vfrfjDr lwpuk,¡ % 

(i) LFkk;h lEifŸk;kasa ij ` 60]000 kl yxk;k x;kA 

(ii) ` 40]000 iqLrd ewY; dh ,d e’khu ` 30]000 esa csp nh xbZA 

From the following Balance Sheets, prepare a schedule of 

changes in working capital and fund flow statement : 

Balance Sheet 

 Amount (`) 

Equity and Liabilities 2017-18 2018-19 

Share Capital 4,00,000 4,50,000 

P & L A/c (50,000) 70,000 

Discount on shares (10,000) (5,000) 

General Reserve 2,00,000 2,10,000 

Debentures 2,40,000 3,50,000 

Current Liabilities 1,20,000 1,50,000 

 9,00,000 12,25,000 

 

 

 Amount (`) 

Assets : 2017-18 2018-19 

Fixed Assets 6,10,000 7,20,000 

Investments 50,000 1,30,000 

Current Assets 2,40,000 3,75,000 

 9,00,000 12,25,000 

Note : Figures in brackets indicate negative figures. 
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Additional information : 

(i) Depreciation charged on fixed assets was ` 60,000. 

(ii) A machine of the book value of ` 40,000 was sold for 

` 30,000.  

vFkok 

(Or) 

,d QeZ dh foŸkh; fLFkfr 31 ekpZ] 2018 o 2019 dks fuEu Fkha % 

iw¡th ,oa nkf;Ro % 
jkf’k ¼`½ 

2018 2019 

pkyw nkf;Ro 36,000 41,000 

lgk;d dEiuh ls _.k – 20,000 

cSad ls _.k 30,000 25,000 

iw¡th ,oa lap; 1,48,000 1,49,000 

 2,14,000 2,35,000 

 

lEifŸk;k¡  
jkf’k ¼`½ 

2018 2019 

e’khujh 1,07,000 1,22,000 

(–) vo{k;.k ¼vc rd½ 27,000 36,000 

 80,000 86,000 

Hkou 50,000 55,000 

Hkwfe 20,000 30,000 

LVkWd 25,000 22,000 

nsunkj 35,000 38,400 

jksdM+ 4,000 3,600 

 2,14,000 2,35,000 
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o”kZ ds nkSjku ` 26]000 ykHkka’k ds :i esa pqdrk fd, x,A 

¼iqufuZjhf{kr½ ,- ,l-&3 dh vizR;{k fof/k ls jksdM+ cgko fooj.k rS;kj 

dhft,A 

The financial position of a firm as on 31 March, 2018 and 

2019 was as under : 

Capital and Liabilities 
Amount (`) 

2018 2019 

Current Liabilities 36,000 41,000 

Loan from subsidiary company – 20,000 

Loan from bank 30,000 25,000 

Capital and Reserve 1,48,000 1,49,000 

 2,14,000 2,35,000 

 

Assets 
Amount (`) 

2018 2019 

Machinery 1,07,000 1,22,000 

(–) Dep. upto date 27,000 36,000 

 80,000 86,000 

Building 50,000 55,000 

Land 20,000 30,000 

Stock 25,000 22,000 

Debtors 35,000 38,400 

Cash 4,000 3,600 

 2,14,000 2,35,000 

During the year ` 26,000 were paid as dividends. Prepare 

cash flow statement as per revised AS-3 (indirect method). 
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bdkbZ&3 

(UNIT—3) 

3- lhekar ykxr fof/k ls vki D;k le>rs gSa \ izca/kdh; fu.kZ;ksa esa 

lhekar ykxr fof/k ds dqN egRoiw.kZ mi;ksxksa dks crkb,A 

What do you understand by Marginal Costing ? State some 

of the important applications of marginal costing for 

managerial decisions. 

vFkok 

(Or) 

jkts’k VªsMlZ ds fuEufyf[kr ys[kkadu vfHkys[k miyC/k gSa % 

o”kZ 
foØ; 

(`) 

ykHk@gkfu 

(`) 

2018 75,000 15]000 ¼gkfu½ 

2019 2,25,000 15]000 ¼ykHk½ 

Kkr dhft, % 

(i) ykHk&ek=k vuqikr 

(ii) LFkk;h ykxr 

(iii) o”kZ 2018 ,oa 2019 ds fy, lhekar ykxr 

(iv) le&foPNsn fcUnq 

(v) ` 30]000 ds ykHk ds fy, lqj{kk dh lhek 

Following records are available from the accounting records 

of Rajesh Traders : 

Year 
Sales 

(`) 

Profit/Loss 

(`) 

2018 75,000 15]000 (Loss) 

2019 2,25,000 15]000 (Profit) 
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Find out : 

(i) P/V ratio  

(ii) Fixed cost 

(iii) Marginal cost for 2018 and 2019 

(iv) BEP 

(v) Margin of Safety for the profit of ` 30,000. 

bdkbZ&4 

(UNIT—4) 

4- ctV fu;U=.k D;k gS \ blds mís’; rFkk ykHkksa dks crkb,A 

What is Budgetary Control ? Point out its objectives and 

advantages. 

vFkok 

(Or) 

,d fuekZ.kh dEiuh dh okf”kZd mRiknu {kerk 10000 bdkb;k¡ gSaA 

vof/k ds fy, 6000 bdkb;ksa dk O;; ctV fuEukafdr gS % 

 izfr bdkbZ  

(`) 

lkexzh 50.00 

etnwjh  ¼60% ifjorZu’khy½ 10.00 

fuekZ.kh O;; ¼60% ifjorZu’khy½ 10.00 

iz’kklfud O;; ¼fLFkj½ 5.00 

foØr ,oa forj.k O;; ¼60% fLFkj½ 5.00 

dqy ykxr 80.00 

ykHk 20.00 

foØ; ewY;  100.00 
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70% rFkk 100% dk;ZLrj dks iznf’kZr djrs gq, ykspnkj ctV rS;kj 

dhft,A ;g vk’kk dh tkrh gS fd 60% dk;ZLrj rd izfr bdkbZ 

fcØh ewY; fLFkj jgsxk] blds ckn 90% dk;ZLrj rd 5% dh deh 

dk vuqeku gSA 90% ds ckn izR;sd 5% dh of̀) ds fy,  

2 1
2

% dh deh dk vuqeku fd;k tkrk gSA  

A manufacturing company has the production capacity of 

10000 units p. a. The expenses budget for 6000 units for the 

period are a follows : 

 Per unit 

(`) 

Materials 50.00 

Wages (60% Variable) 10.00 

Manufacturing expenses (60% Variable) 10.00 

Administration expenses (Fixed) 5.00 

Selling and distribution expenses (60% Fixed) 5.00 

Total cost 80.00 

Profit 20.00 

Selling Price 100.00 

Prepare a flexible budget showing 70% and 100% levels of 

activity. It is expected that the per unit selling price will 

remain constant upto 60% activity, thereafter a 5% reduction 

is expected upto 90% activity level. Above 90%  

21
2
% reduction in original price is expected for every 5% 

increase in volume. 
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bdkbZ&5 

(UNIT—5) 

5- fuEufyf[kr lwpukvksa ls lkexzh ,oa Je ykxr fopj.k Kkr dhft, % 

izfr bdkbZ izHkkfor izR;{k ykxr % 

 ` 

lkexzh ykxr 10 fdxzk- 200 

etnwjh ykxr 40 ?k.Vs 40 

 240 

250 bdkb;ksa ds mRiknu ds fy, ` 51]220 dh 2600 fdxzk- lkexzh 

iz;ksx dh xbZA etnwjh Hkqxrku fctyh Qsy gksus ds dkj.k 10 fuf”Ø; 

?k.Vksa dks ‘kkfey djrs gq, 10900 ?k.Vksa ds fy, ` 11]881 FkkA 

From the following information, calculate material and 

labour variances : 

Standard direct cost per unit : 

 ` 

Materials cost 10 kg. 200 

Labour cost 40 hours 40 

 240 

For the production of 250 units materials used amounted to  

` 51,220 for 2600 kgs. Wage payment ` 11,881 for 10900 

hours including 10 hours idle due to power failure. 

vFkok 

(Or) 

izeki ykxrksa ls vki D;k le>rs gSa \ dkj.k lfgr le>kb, fd ,d 

vkS|ksfxd laLFkku dks izeki ykxr fof/k D;ksa viukuh pkfg,A 

What do you understand by standard costs ? Explain with 

reason why an industrial concern should introduce standard 

costing system.   
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